
2012 TECH EVO Master Cylinder

Issue1 08/2011

M3x6
Dome head screw

HBSP216
Tech dust cover

HBSP272

HBSP271

HBSP215

HBSP214

Tech lever pivot screwSub assemly

HBSP270
Tech Evo body

HBSP26
M6 sealing washer

HBSP163
Straight connector

HBSP224
Tech lid (x2)

HBSP225
Tech diaphragm (x2)

M3x8
Dome head screw (x4)HBSP227

Tech Evo Piston insert

Tech Evo Piston

Tech secondary piston seal

HBSP231 HBSP222
Tech lever pivot

HBSP223Tech Evo Lever and Cam

HBSP229
Flanged bush (x2)

M5x15
Cap screw (x2)

HBSP226
Tech clamp

HBSP220
Tech plug

HBSP228
Plug O'Ring

Tech retaining plate

Tech primary piston seal

Tech piston spring

HBSP218
Tech lever blade

HBSP219
Tech adjuster screw (2x)

HBSP221
Tech brass plunger (x2)

HBSP232
Tech lever spring

HBSP233
Crescent ring (x2)

HBSP275
Tech Evo Cam roller

HBSP276
Tech Evo Cam bush

HBSP230
Tech cam grub screw

HBSP273
Tech Evo Cam

HBSP274
Tech Evo Cam roller pin

Tech Evo Lever and Cam
Sub assembly


